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Multiple choice Question - ( sgfdweda ge=)

Funds required for acquiring current assets are part of - (are] ¥R WRITT & foy
faq @ maadar AT 8) —

a) working capital Requirements b)  Fixed Capital Requirement
(@rieliet ol &1 rraerdsan) (Rl ST B SraweT)
C) Retained earnings d)  All of the above
(rferenfRa i) SERENASE])
Funds are required for :- (@IYT DI IMITIHAT B)—
a) Financing fixed assets only b)  current assets only
(@ae IR IR @ o) (aTe], ARl @ for)
C) Expansions only d)  All of the above
(fedR & forg) (ST |+)
Funds required for acquiring fixed assets are part of ;- (Rl FwREl @ded &

forg foa &) smawIRdT W 8)—

a) Fixed capital Requirement b)  Working capital Requirement
(IR GICIRCIERSERY) CISECIEARSICARCE])

C) Self-finance d) None of the above
SERER) Suda § 13 77E)

Short-term financial plans are made for:- (@U@= faxia o) —

a) Than one year b)  More than one year
(TH a9 A HH Ifa) (U® a9 | AP af)

C) More than one year but less than d)  More than five years
five years (dra 9¥ ¥ 31fde srafy & for)
(U a9 9 3ffde <Ife dra a¥ | &F

Jafe)
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Financial Planning is essential :

(fa<h TS smawas ®)

For large business
(®dT S FIAT & foIv)

For none of the above
(foslr @ forg =12)

a) For small business b)
(®ad BIC FaIT & forv)

C) For both business’ d)
@i & fom)

Obijective of financial planning is:

a) To obtain sufficient funds b)
for the business
(@ & v« A 4
BIY YT B

c)  To bring simplicity in capital d)
Structure

IR ERISEERIRSIE )

(fe<ira feraToT o1 Se9)

To maintain cost of Capital

at Minimum
(ST SARTd DI REATH 7g1)

All of the above

(et wh)

Financial planning is affected by : (=i I wwifad grar &)

a) Nature of business b)
GEKIDICIREAR)

C) Goodwill of the firm d)
(GqT BT )

The amount of capitalization is determined by :

BE

a) Estimating the financial needs b)
(aTTTeTHATAT & ITTA IRT)

C) Estimating the expenses d)

(=t & SIgAN ERT )

The causes of over-capitalisation are :

a)  Excess issue of capital b)
SRIECECIREUEE)

c)  Shortage of capital d)
(TSI BT 314T9)

Degree of risk
(SIRgw &1 #1=)

All of the above
(Sudat wHl)

(TSfrenvor @) AT BT AuiRor g

Earning theory of
capitalisation
(ST & 3 Ragid )

None of the above
(SUjad fHdl & gRT =T8))

(@rfa—dsfiavor & HRoT 7)

Excess preliminary expenses
(@1 gaa+ =)

All of the above

(e )

The causes of under-capitalisation are : (IFI—ISHHRT & HRUT 7)



a) Less-estimate of earning b)  promotion of company in

(3 T HH IFHM) recession
(7T BTt | BT BT Udad)

C) Difficulty in raising capital d)  All of the above
(ISl Uafd & | HiSTs) (ST |)

The remedies for under-capitalisation are : (3rea—USiaHRoT & IUM 2) -

a) Issue of bonus shares b) Issue of new shares
(@ 373l o1 fAeee) (9 3fen &1 fAefee)

c)  Spiliting of shares d)  All of the above
(3fert @1 fawToT) (SUaa a)

Long-term finance is generally needed for a period of :  (SrEi@Tel= or @1 3Maegdhdn
Bl B) :

a)  Tenyears or more b)  five years or more
(10 Ty a1 37ferD) (5 a¥ a7 2AfIP)
C) fifteen years or more d)  two years or more
(15 Ty a1 37ferD) (2 a9 a1 3rfep)
Short-term finance is raised for a period of : (areupTele fad foram Siram 2) -
a)  Three months or less b)  Twelve months or less
(3 wEM A1 PHH) (12 7€ a1 BH)
C) Twenty four months or less d)  Twenty months or less
(24 WET AT ) (20 HE AT HH)
Medium-term finance is raised for a period of : (Fea®TR For @y & forw Sar ©)
a) More than one year and less b)  Less than one year and more
than ten years than ten years
UH Iy | AP Afhe <7 9§ F HA) UH 9§ H BA oAfdbd <7 99 A
31fde )
C) More than five years and less d)  Lessthan one year and less
than eight years than five years
(A= oy ¥ 31fd@ offd 3ms (UH a9 ¥ HH offd dr=
I9 3 PA) I F B )

Underwriters are required to be registered with :  (*rTU®T &1 USiiexor 71 @& 1T
CNEIRCIECID I

a)  SEBI b) RBI
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(@) (SERED

C) (@) and (b) both d)  None of the above
(31 3R 9 M) (SRad ¥ By 7o)

Underwriting of securities in India started in : (&R % ufosgferdl &1 AT Yo ga)

a) 1944 b) 1912
(1944 #) (1912 #)

c) 1930 d) 1980
(1930 #) (1980 #)

Types of underwriting include : @¥IYA & &R F i 2) -

a) Firm Underwriting b)  Syndicate underwriting
(GIEESECIEUIER) (Ricrae )

C) Sub-underwriting d)  All of these
(ST—3THTIT) (SUJa |

Amount charged by the underwriter for providing underwriting service is called:
(@IS EIRT IO Al & dgel arot @l T8 IR dEarl 2)

a) Brokerage b)  Underwriting Commisson
(GeTetl) (SrfTIOe PHTer)

C) Discount d) None of the above
(82) (& | BIg )

Traditional approach to financial management is characterized by :
(faxr ey @ RARTTT faaRaRT @ faRivar 2 )

a) Descriptive in nature b)  Sporadic
CERIRICD) (F=dt®)

C) Emphasis on procurement of funds d)  All of the above
(@Yl BT IR TR D &) (ST]a |)

Modern approach to financial management is characterized by :
(o vaer @ emyfe faamemT @ faRydr 2 1)

a) focal point in decision-making b)  continuous administrative
(Freerivep}or gfsbar o1 @ay fd=g) function.
(=R wemafe &)

C) centralized nature d)  All of the above
(@it gapfer) SERENISE))
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Profit in business parlance means :

a) Profit after tax b)
(PR gZaIq YY)

C) Earnings before interest d)

& tax (EBIT)
(TS G PR Y4 377)

(T BT AT H AT BT 37T )

Profit before tax
(PR gd <)

Return on capital employed
(IS R g @l <)

Wealth maximization is considered to be a better objective of financial
management because : (FHfd & Yea # gfg A gdy &1 TR W B Fifh)

a) It considers time value of money b)
(T2 o & FAI—J R IR &_ar 7)

C) It is free from drawbacks of goal d)
of profit maximization
(T o ¥ gig Rgra & S
| A 7 )

Study of financial management is useful for :
g l)

a) Shareholders b)
(sferenRat & for)

C) Brokers d)
CEIGICAELY

Board of directors in a company are answerable to
e 9 @ gfd STReRY 81 )

a) Chairman-cum-Managing Director  b)
(3reTeT Ud e HdTeId)

C) Shareholders d)
(srerenRat )

It considers risk by

discounting future cash flows
@I & Toe yarE &I T Al
TR W Pl P ARG IR [aarR
BT B)

All of the above
(SUJa |

(fa<ira weer & s & TR

Mangers

(Terert & forg)

All of the above
SERCRRRY)

(TH B B AdTAD AvSA D

Financial Manager
(fo<ira uders #)
None of the above

Eua # &3 7E)

Out of three types of financial decisions, the following can be taken independent of
the other two: \9 yaR & fadg fofal # = fofa 9w < & wfaa =€ €ran)

a) Investment Decision b)

Financing Decision
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(fafermT foofa)
C) Dividend Decision d)

(e foyoTa)

(fort gfcf fof)
None of the above

(& & 3IE )

Main objective of working capital management- (wriefier Yol uder &1 &9 I£ed o)

a) To create current assets b)
(aTe] wwufcrl &1 =)

c)  To determine finance policy d)
(fa =iifar &1 ferizon)

Analysis of working capital is done through -

to establish co-ordination
between liquidity and
profitability

(AReAT IR ™ UadT § Gy
1)

All of the above
(Sudat wl)

(refeet oft a1 fageivor fpar Srar )

Working capital forecast
(Prefefret Ioft 7 SrgATT TR

None of the above

(& & 3IE TEN)

Application of funds

a) Ratio Analysis b)
SEEIREREELIEIN)
C) Altering working capital d)
(@rielier ol % aRad+ &)
Funds-flow statement highlights : (®rv—yare fdavor I8 ude a=ar 2 )
a) Sources of funds b)
(@Y BT U & )

C) Sources and Application of funds d)
(@Y o UIftd & S Ud ST & ¥9)

(PY & IWAN & ¥3)

None of above

(& & 3IE TeN)

Main functions of financial management are: (=i yey & J=g BRI AT 8)

a) Financial Planning b)
(facira forarem)
C) Allocation of net profits d)

(€ ™9 BT ATdc)

Procurement of funds
(@I} DI UT B

all of these

(e )

Modern approach of financial management is : (=i yeer @1 MYFHH [T=RURT ) :

a) Procurement of funds b)
(@IS} BT UT BHR)

C) Both (a) and (b) d)
(31 qom T QM)

utilization of funds
(19T BT STINT BRI

None of these

(& & IS TeN)
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Traditional approach of financial management was discarded during :
(fo=fTa gde 1 IRHIRATG fI=RERT B Hd @1 f&ar T2 o)

a) 1910 - 20 b) 192030
(1910—20 #) (1920—30 #)
c) 1930 —40 d) 194050
(1930—40 #) (1940—50 #)

According to whom, " The financial plan of a corporation has two fold aspect it
refers not only to the capital structure of the corporation on, but also to the

financial policies which corporation has adopted or intends to adopt."
(— @ IUR, " U& gH @) o< Ao & 7 usd B9 € 7 Ud I8 R @l

USI—RAAT DI AR HDhd Bell @ AT GAX Ig -1TH §IRT (UATS, T3 AT (0TS S aTel]
foir fert @1 Tt dRar 2)

a) Walker & Baughn b)  W.J. Stanton
(xR Ud 9TE) (S, Sl ¥CUeA)

C) J.L. Massie d) Howard & Upton
(ST. Tt H) (8Tas Td IUcA)

Capital structure includes : (Foh—<Ra= # a7 affed 8)

a) Share Capital b) Debenture
(sfer M) (reoTa)
C) Deposits from public d)  All of these
(ST ¥ 7 T) (ST |+)
Fixed capital needed for ............. Period: (R USll @ srawaasar faas arafer &
for i 2 )
a) For short period b)  for long period
(remret= 3rafy & forv) (SrepTeld emafy & for)
C) For (a) and (b) both d)  for ordinary period
(& &R 9 <l & forg) (@M= 3y @ o)
Financial Management is .............. (ERIRREEC— 2)
a) Art b)  Science
(<) (fa=m)
C) Both art and science d)  None of these

(@l 3R fasm= g (5T | B )
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a) Economy b)
(Frcreart3ra)

C) Durability d)
GESNIGED)

Simplicity
(¥R

Consistency
GRID)

The future of stock exchange in India is (Ra # ¥ fultrEl &1 widsr &« )

a)  Bright b)
CESER))

C) Ordinary d)
GIELS)

In Dark
(1R #)

No future
(@1g vfasy =8))

Head office of SEBIl isin &t &1 qw&1 wrafes @af 2)

a) Delhi b)
(fereeh)

C) Kolkata d)
(@reTeTe)

Mumbal

([F7%)

Chennai

(=)

For stock changes, the services of SEBI is (p=1 fqufdrl & forg el @7 wa] &= )

a) Voluntary b)
(¥fee)

C) Unnecessary d)
(CBIEENED)!

Necessary
SIERSED)

Compulsory
(srfyar)

The foremost stock exchange was established in  (fawa # wa% ugel W= faufor @

ITIAT FEl ge o)

a) Delhi b)
(fereet)

C) America d)
(arRa)

The first stock exchange in India was established in ........

fqufor &1 Termu=T %9 g3 o)

a) 1857 b)
(1857 #)

c) 1887 d)

London
(er)

Japan
(Srar=)

(TRT # e UBl T

1877
(1877 #)

1987
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(1887 #) (1987 #)

The no. of stock exchanges in 2004 was (8 2004 # wRd H wWh= Uil @ Hwe
forer off)

a) 20 b) 21
c) 23 d 24

Regional office of SEBI is situated in (& &1 &= wraferg saf Rera B)

a) Delhi b)  Chennai
(fereet) (F=TS)
C) Kolkata d)  All these three
(rerra) (&7 <t SrTe)
Legally, SEBI was established in ....... (@efHs w9 H JeT DI @IUAT B gg o)
a) 1988 b) 1990
c) 1992 d 1994
Stock exchange protects the interest of ........ (¥peer faufor f2a @1 gRefm &l 7)
a) Investor b)  Company
(ferererap) (1)
C) Government d)  None of these
(6¥R) (& & B )
Regular working capital is the part of ;- (Frafa eriia qoi 9mr 2 ...)
a) Permanent working capital b)  Variable working capital
(vomdy Preiefer o) (aRacefiier erieirer o)
C) Net working capital d) None of above
(g Pt i) (& & PIE 7TE)

Which of the following are the factors affecting the requirement of working
capital? (F=1 % 9§ ®IF— HrIefia ol &1 AMaeIHAT BT JHIdd B dTcl °gcdh 7)

a) Nature of business b)  Scale of operation
@ERIPECIREAR)! (fepamatt &1 %)

C) Production Cycle d)  Raw Material
(Scares =ish) (e e

Which of the following are the features of capital budgeting ? (=1 & & -0
ISl quIfeTT @t faRman g )
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a) Heavy Investment b)
(Y fafermT)

C) Not easily reversible d)

(aRac # BfoTs)

Long-term Investment
(Sreforel fafam)

High degree of risk
(STRaw @1 31fdre A=)

Which of the following are the factors affecting the requirement of fixed capital ?

(=1 & P R Yol &1 MaeIHhdl HT YHIId &R dTcl °gch 7) ?

a) Nature of business b)
CENILECIREAR)!

Scale of operation
(fepamett &1 O

Technology upgradation
GERICISEIRS)

Dealing in securities issued by
various concerns

(o= =erell grRT i ufey
qfodl § JaER)

None of above

C) Choice of technique d)
(TEfar &1 =a)
Which of the following are the feature of stock exchange ? (=1 % &1 -1 @&
fqooft @ faeryamg 8) ?
a) Organised market b)
GSRIESECISIE)
C) Unorganised Market d)
SSRIERICISIN

Basic objective of Financial Management is .......

(T | PR T

a) Maximization of profit b)  Maximization of share holder's
GRS IEEEETY)) wealth
(FRRYR® B! Fufed &7
SNfBTHBRO)
C) Ensuring Financial discipline d)  All of these
in the firm
(@ ¥ oy argemes gk o) @ &)
Financial structure refers to .............. ERIRIEE L —— P AT BT ©)
a)  Short-term resources b)  All the financial resource
(3TeUmTellh FHTE) GUIRERIEISNICE)
C) Long-term resources d)  All of these
(Eremrelie Fwam) @ @)
The market value of the firm is the result of ............... (BH BT TR A ...

&1 gRom = 1)



a) Dividend decisions b)  Working capital decisions

(amrer frof) (Prieier oft fofa)
C) Capital budgeting decisions d)  Trade-off between risk and
(IS gte frof) return
(SRgH 3R aTO=Al & dIF ATIR
q3)
Cost of capital is ............... (TS BT AT e 2)
a) Lesser than the cost of b)  Equal to the last dividend
debt capital. paid to the equity shareholder's
(3T YSil B AN 9 FHH) (SIS AIRYRDT BT ia by

Y SAfH AT D SRTER)

C) Equal to the dividend expectations d)  None of the above
of equity shareholders for the

coming year.
(@ atet a¥ @ forv safafe TRReRGT (SRIad § & PIg T8I
DT AT ITUETRN & IRTeR)
In walter model formula D stands for ............ (areer Afedt wiFen H D &1 a9 ..
....... 2 )
a) Dividend per share b)  Direct dividend
(@ IR AT R ERCIGIED)
C) Direct earnings d)  None of these
(TeeT HTE) (57 | BIg 2I)
.......... security is known as variable income security.  (......... GR&IT &I GRac
3T JReTT & ®Y H ST el & )
a) Debentures b)  Preference shares
(fed=r) CRERIIEN)
c)  Equity shares d)  None of these
(faadt I=R) (F ¥ ®Is 2)
Quick asset does not include ............ (@RT FART oo A 81 8)
a)  Government bonds b)  Book debts
(TR dvs) (g =)

c)  Advance for supply of raw materials d)  Inventories
(@t et Y Il @ farg arf) (g7e)



Long term finance is required for ............. (— & foy dreawret fas a1
STEIHAT BNl ©)

a) Current assets b)  Fixed assets
(aciAe |ufy) (rarer Huf)
C) Intangible assets d)  None of these
(st wuf) (g ¥ PIS T
Financial leverage can be measured in ............. (ERIRESSSE G E— H AT
ST a2 1)
a) Stock term b)  Flowterm
(i <) (el TH)
C) Both (a) and (b) d) None of these
(EH1 T SR d) (7 | BIg 2N)
Current ratio of a concern is 1, its net working capital will be ...........
(T UTSST BT acide U 1 2, $9d] Y& PRI Yol ... BT )
a) Positive b)  Neutral
(APRIHD) (qe=)
C) Negative d)  None of these
(TPTRICH) (& @ I3 7))
The major benefit of diversificationis to ............. (fafaeiien)or b1 ggg MY ......
)
a) Increase the expected return b) Increase the size of the
(eruféra Re 9em) investment portfolio

(fFrarer IwIferal &1 PR deT4)

C) Reduce brokerage commissions d)  Reduce the expected risk
(STHYST BHIIE HH DY) (erufera SIRaA BT &F HN)

The risk free rate of return is 8 % the expected rate of rate of return on market
portfolio is 15 % the beta of eco boards equity stock is 1.4. the required rate on eco
boards equity is . (ORew g Red &1 <) 8 Ufderd 7, IR dIehifordl iR
el BT SMUfETT <X 15 Ul B, ST a1 sfadc) ¥fd BT 9T 14 B | 3BT die gfdac! W
MMARIEH X oo =)

a) 15.4 % b) 16.8%
(15.4 gfcrera) (16.8 gfcrera)
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C) 17.2 % d 17.8%
(17.2 ufcrera) (17.8 ufcrera)

............ Is concerned with acquisition, financing, and management of assets with
some overall goal in mind. (G §HY T DI A H WG g HURT B AIF,

facaIyor R yeeE & Hefdd 2 1)

a) Financial management b)  Profit maximization
(fa<ia veier) GIERSICENRERY))

C) Agency Theory d)  Social responsibility
(Toish Rrgia) GIGINERNISEN))
............ is concerned with the maximization of a firm's earnings after taxes.

G—— PRI D 9IS Th BH D HHIS DI JARNHIH B I Hdfd 2)
a) Shareholder wealth maximization b)  Profit maximization
(FRRYR® ¢4 STfHTHHRT) GIEESIEEREERY)

C) Stakeholder maximization d)  EPS maximization
(EEIRCRCIE B CaNY)) (YT SNt THBRON)
.............. is the most appropriate goal of the firm. (oo, B BT A

ST e T )

a) Shareholder wealth maximization b)  Profit maximization
(FRRYR® ¢4 STfHTHHRT) GRS IEEREERY))

C) Stakeholder maximization d)  EPS maximization
(RauR® 3iferhaHHRO) (SUTTH STfrHAHBHRT)

If a company issues bonus shares the debt equity ration ......... .

(Tfe DI ST I IR SR DRl © 1 ROT SIFGCT U oo )

a) Remain unaffected b)  Will be affected
SEEIEERG) (rfae =rm)

c)  Will improve d)  None of the above
(R B1) CSWIad § H PIg T8

Which of the following is not normally a responsibility of the treasurer of the

modern corporation but rather the controller ? (Fr=folRaa & 9 9 9 w9 4

3efiep 179 & pIuTEder B el dfed ARG BT TR 87)

a) Budgets and forecasts b)  Asset management
(gsTe IR gargHr) GRISIEEEE))

C) Investment management d)  Financial management
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(Frier waier) (fctrr i)

Corporate governance success includes three key groups. represents these
three groups. (@RURT Jemrad @) Fhatdt § 9 U g wfd B ERiGIE]
Al &1 gfaffea wwar 2)

a) Suppliers, managers, and customers b)  Board of directors, executive
(armgfcierd], Uaere IR TED) officers, and common

shareholders.
(fFreere Asd, FRIeRI ARHERT 3R

ATHT ?Iq‘ibINCb)

C) Suppliers, employees, and customers d)  Common shareholders,

(amgfcierdi, HHART 3R UTE®) managers and employees.
(3T IRRYURD, UeU®H AR HHAN))

In 2 years you are to receive Rs. 10, 000. If the interest rate were to suddenly
decrease, the present value of that future amount to you would ...........

(2 auf # MUBT 10,000 T UK BW 2 | IfT TS &R IS TS ST &, Al 3D oy 99
sy @t IR HT qdHT A BT )

a) Fall b) Rise

(s=) (S<)
C) Remain unchanged d)  Cannot be determined

(@raRafd =) (fafRa =& frar ST dwar § )
Interest paid (earned) on both the original principal borrowed (lent) and previous
interest earned is often referred to as ............. (Tl oo SR ([UR) 3R el
ST &St TFl IR A (R1fid) &1 Bl TR . & ®UF Wefid fdhar Sirar 21)
a) Present value b)  Simple interest

(o o) (SATeIROT =T)
C) Future value d)  Compound interest

(fasr ) GEFIFRIN)

The long-run objective of financial management is to ..............

(o e &1 edIeld I ... g )

a) Maximize earnings per share b)  Maximize the value of the
@ IR HHE BT AABAH BN) firm's common stock.
(FH & AT Cid & Jed Bl
MBI HN)
C) Maximize return on investment d)  Maximize market share

(T R ufdwd BT 3MfrBad w) (@OTR fRRIER &1 MfHad &)
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The most important and common form of dividend is ..............

(ST BT HeH He@yol 3R AHRT W ... 2 1)

a) Stock dividend b)  Cash dividend
(GEICRSI IR (b ofrien)

C) Bond dividend d)  Scrip's dividend
CISEIIRIN! (TDIT DT AT

form of market efficiency states that current security prices fully reflect
all information, both public and private. (— IR &Il & ®9 H el T &
b e GRET g AdSTHd 3R (IS SF1 R @l I ol & g3 dve 9 ufdfdfad
R B )

a) Weak b)  Semi-strong
(FHR) (aref—HTeq)

C) Strong d) Flexible
(FoTee) (crefrem)

Which form of market efficiency states that current prices fully reflect the

historical sequence of prices ? (TSR S&rdT &1 DA A wY Id 2 & AlET B
Al & VARG A BT I8 TRE o g 87)

a) Weak b)  Semi-strong
CREIN) SESUSEQ)
C) Strong d) Flexible
(FSTT) (crefrem)
form of market efficiency states that current prices fully reflect all
publicly available information. (— ISR S&T HI WY 1Al & b AloEr

DI AdSE © § Suael I gaemet B T v 9 g9l 2 )

a)  Weak b)  Semi-strong
CRE) (sre—oTeeT)
C) Strong d)  Flexible
(A7) (crefrem)
is concerned with the acquisition, financing, and management of assets
with some overall goal in mind. (— EB Y eI DI & H W gY Aule

@ AfREYT, faaryer iR yees | e ® 1)

a) Financial management b)  Profit maximization
(fa<h geer) GIGRSIEETREEEY))
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C) Agency theory d)  Social responsibility
(Toi= Rigi) SUBISERNISEN)

is the employment of an asset is sources of fund for which the firnm has to

pay a fixed cost or fixed return. (G dh UR¥UfT &1 AR A &1 sia &
e forg wH &1 va Fefa amra ar i Resd &1 e xe1 oedl & )

a) Financial management b)  Profit maximization
(fa<iar gde) GIESIEEREERY))

C) Asset management d)  Leverage
(Hufa waer) (ScciTer)

Is the minimum required rate of earnings or the cut off rate of capital
expenditure. G— TS BT ATH 3MIeIH & I GoilTd T &I He 3ih X 2 )
a) Cost of capital b)  Working capital

(ol @1 @) CaRNICR D)
C) Equity capital d)  None of the above
(sfaadt gom) (SWRITd H | DI o))

is a long term planning for financing proposed capital outlay.
(G wRarad Yoft tRera & facaer & fog e drewifors are ¢ )

a) Capital Budgeting b)  Budgeting
(ISR oie) (a<Te)

C) Cash Budget d)  Sales Budget
GETEENS) (faet soTe)

Which of the following is the first step in capital budgeting process ?
(Fr=foRaa & & @19 ISl 9oie Ufhar &1 ugar =R §) ?

a) Final approval b)  Screening the proposal
SIREREIEA) (s Y <FHIf)

C) Implementing proposal d) Identification of investment
(SR BT AR HRAT) proposal

GESRSSIER IR IR

Which form of market efficiency states that current prices fully reflect the

historical sequence of prices ? (TSR S&IdT &1 I AT HI IAIdT & b AT B
HrAdl & VRIS gy I 4 IRE A I ©) ?

a)  Weak b)  Semi-strong
(F¥iR) SEEEFO)



82.

83.

84.

85.

86.

C) Strong d)  Highly strong
(FroTeeT) (sreafre 1)

Is one that maximizes value of business, minimizes overall cost of capital,
that is flexible, simple and futuristic, that ensures adequate control on affairs of
business by the owners and so on. (— e & Sl FaAd D Hod DI IfAHAH
HRAT B, Yol DI FHT AN BT HH HIAT &, Sl odiel], TRl AR Afasgard] 8, A1 Arferap!
gRT TR & Al W JAT =01 GARFd axar 7 &R gl d=e )

a) Minimal capital structure b)  Moderate capital structure
(e i <) (e it <)
C) Optimal capital structure d)  Deficit capital structure
(geee Ioft wer) CISIRCIRSECED
refers to make-up of a firm's capitalization.  (........... T BH & Gollhrol
@ HBHINT DI FEHd BT 8 |)
a) Capital structure b)  Capital budgeting
(i <) (Tofr a1e)
C) Equity shares d)  Dividend policy
(it IRR) GISINIEIR);
of different sources of capital influences capital structure.
(IS @& fafr=1 #iai &7 64, ... Yol e BT yTfad &var 2 )
a) Restrictive covenants b)  Tax advantage
CINCRIRERCH CI2)) (@R ™)
C) Cost of capital d)  Trading on equity
(St =1 @) (st = 2fEm)
of debt capital is a factor in favor of using more debt capital.
R— FOT USll &7 31 0T USil BT SN & & Ue H (dh IRS & |)
a) Tax advantage b)  Debt equity norms
(@ ) (T gfdat AM<S)
C) Leverage effect d)  Security of assets
(ST T4T4) (Y o1 FRe)
Is a payment of additional shares to shareholders in lieu of cash.
(—— THE T Iacl YIRYRD] B ARG TRRT BT T 2 |)
a) Stock split b)  Stock dividend

SHEREEINE)! (fp N))



87.

88.

89.

90.

91.

C) Extra dividend d)
(arfaRer <)

Regular dividend
(RRIESESIEINY)

such as restriction on business expansion, on raising additional capital,
on declaration of dividend, nominee directors on the board, convertibility clause,
etC. (e S YR f[IRR R yfady, AfiRad goll SeM W), o™i &1 9Iyor W,

dre # Aha e, gfadsidr @, & )

a) Trading on equity b)
(sfaaet w ofem)
C) Restrictive covenants d)

CIRERIRICAGNE)

Debt capacity of a business needs
DI IMIIHAT Bl & |)

a) Restriction b)
EIGER)

C) Leverage d)
(Sccler)

Security of assets
(T @1 gRe)

Debt capacity of a business
(Th AT DI 0T &HdT)

(Th T &I 0T &HAT ..........

Consideration
(fa=m)

Security
(|ge)

Financial leverage refers to the rate of change in earnings per share for a given

change in earnings :
IR A FH gRIAT B TR B Hafid HRar g 1)

a) Before tax b)
(CRT | Uga)

C) Before interest and tax d)
(TSt 3R B A UEA)

(faxira Sirer Mg # few v gRads & ferw ufa

Before interest
(TS & UE)

After interest and tax
(@St IR TR B 91)

Which of the following are not among the daily activities of financial

management?

a) Sale of shares and bonds b)
SENEEINEISIECIREEY))

C) Inventory control d)
CEIRBEER)

The allocation of capital is determined by

fRefRa fear smar 2 1)

a) Expected rates of return b)
(JATRIT g™ &)

(FreaferRae 5 | @19 facig gdem &1 <o afafafel 3 & =€ 8) 2

Credit management
(svfSe Yaem)

The receipt and disbursement

of funds.
& @ Tt &R sdfaaRon)

(GSft @T arrded ... R

The Bank of Canada
CraIE R S)



92.

93.

94.

95.

96.

C) The initial sale of securities in d)  The size of the federal debt

the primary market. (AT R0 BT IADR)
(Ererfie IR ¥ Uil &1 RS f9e))

The mix of debt and equity in a firm is referred to as the firm's
(Th BH T 3R gfaadl & fHs17 B BH B . PHEl SIraT © 1)

a) Primary capital b)  Capital composition
CIBIECZ D) (i <)
C) Cost of capital d)  Capital structure
(T @1 wra) (i =)
The main focus of finance for the last 40 years has been
(freer 40 auf & O &1 7= BB ... T 7))
a) Mergers and acquisitions b)  Conglomerate firms.
(faera aiR arfdnreo) (T )
C) Inflation d)  Risk-return relationships
(geTiepicr) (SRg—aro=eY i)
Rate of tax on capital gain and current income may influence form of
(TSTRTd oM @ik ada S TR &R Bl &R o & ®T BT TG R FhT § |)
a) Equity b)  Preference
(gfaare) (errram)
C) Debt. d)  Capital
(=) (%)
In finance, "working capital" means the same thing as
(o o, “ordefiar o @t et & FAH T )
a) Total assets b) Fixed assets
(@t ) (3rarer =)
C) Current assets d)  Current assets minus current
(acr |\wR) liabilities.
(acHH™ IR adEe SARTRAT
)
varies inversely with profitability. (— AU & AT

GEHATIITCH BT & )

a) Liquidity b) Risk
(cRetar) (STRaH)



97.

98.

99.

100.

C) Accounts d) Trade

(etear) (@TIR)
Net working capital refers to . (T afHT bt ... ®I Heffa w=ar
g )
a) total assets minus fixed assets b)  current assets minus current
(|l Gl e 3radl FHf) liabilities
(ameg, SMRTRIT TS Aey STaTRa)
C) current assets minus inventories d)  current assets.
(acH HafkT AT g=icd)) CREIGESEIS)!
Earlier a debt equity norm of was generally insisted on by the controller of

capital issues. (Ueel Yot i & i@ gRT T dR WR ... P ROl Sfdad] AFeS
R SR & SIrar )

a) 1:1 b) 12
(1:1) (1:2)
C) 2:1 d 22
(2:1) (2:2)

To financial analysts, "gross working capital™ means the same thing as
(o faereor & forg, “Ade wrfefier Goi &t oref ... CASEIC )

a) Fixed assets b)  Current assets
SEERIEID CREINESEIN)
C) Working capital d)  Cost of capital
CaRNICRt D) (ol @1 @)
An example of fixed asset is . (3T HURT BT U SQTERT .......... 2 1)
a) Live stock b)  Value stock
GIEERSIED (Aeg, wid)
C) Income stock d)  All of the above

(M Ei®) (STRIGT )



